S.2 Sentence Patterns (2013-2014)

A. Waysof expressing the concept: Cause and Effect

C1 (cause/reason)
When there is heavy rajrwe may cancel the picnic.
When + (clause) , (clause)
C2 (cause/reason)
Causes We may cancel the picnawing to/ on account of/ because of the heavy
rain.
Clause+  owing to/on account of/ because of + (phrase)
C3 | (causel/reason)
Heavy raincauses/may cause the cancellation of the picnic.
(phrase) + may cause/causes + phrase
El (effect/impact)
The rise in temperatuteas resulted in the melting of some glaciers.
(phrase) + resultin (verb) + (phrase)
E2 (effect/cause)
The rise in temperatuteas caused the melting of some glaciers.
(phrase) + cause (verb) + (phrase)
Effects | E3 (effect/cause)
| mpacts The rise in temperatuteas led to the melting of some glaciers.
(phrase) + lead to (verb)+ (phrase)
E4 | (effect/impact)
Some glaciers have meltada result of the rise in temperature.
(Clause) + asaresult of + (phrase)
S1 (solution&ms)
We can get support from family and frierlmssharing with them.
Solutions (by +ing)
S2 | (In order to + purpose) (§ol/means)
In order to get support from family and friends, we can sheith them
(In order to + phrase) (clause)

B. TheWay of writing a set of proceduresfor an experiment

e.g. Wear goggles




C. Expressing the purpose of an action
e.g. They | wantedtoget | the money back.
S \% to+inf
(as an adverbial to express the purpose of anmctio

D. Waysof expressingthetrend :

Subject Verb adverb
increase dlightly
rise gradually
Subject decrease sharply
fall tremendously
drop drastically
fluctuate
remain constant
stay constant

E. PassiveVoice

......... waswere+P.P| (by.............) Pastsimple : Passive \oice

......... waswere+ not + PP| (by.............) Pastsimple : Passive \oice

Past Simple Tense

Amy cleaned the room. (Past simple : Active voice)
The room was cleaned by Amy. (Past simple : Passive voice)

|Was/were + P|P.

Past Simple Tense

|Was/were + not + B.P.

Amy did not clean the room. (Past simple : Active voice)

The room was not cleaned by Amy. (Past simple : Passive voice)




............. cannot + P.P| (by...............) modals : Passive Voice

......... cannot+ be+P.P] (by.............) Pastsimple : Passive \oice

Modals (e.g. can/could/should)
John should send the email. (Active voice)

><

The email should be sent (by John.) (Passive voice)




